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English 

1.  Do as indicated.           [10×0.5=5] 

a. The building was built in----------6th century.    (Use correct article) 

b. She has resigned herself----------fate.     (Use appropriate preposition) 

c. A herd of cattle----------sold yesterday.     (Insert correct form of ‘be’ verb) 

d. He has to earn some money.       (Change into negative) 

e. The telephone----------several times before it was answered.  (Supply correct form of ‘ring’ verb) 

f. Raj has pleased the Principal.       (Change into passive) 

g. She said to her sister, “Did you have dinner?”     (Change into indirect speech) 

h. The similar word of ‘genocide’ is ----------. 

i. The opposite word of ‘mundane’ is ----------. 

j. The meaning of ‘to bell the cat’ is ----------. 

2. Write a short paragraph on ‘Women Empowerment’ in about 100 words.    [5] 

3. Write a letter to your friend describing the growing use of computer in daily lives.   [5] 

Nepali 

!= k"0f{ e"tsfnsf km/s km/s ls|ofkbsf] k|of]u u/L ev{/} ;DkGg ePsf] :yfgLo lgjf{rg @)&( sf] kfFr jfSodf j0f{g ug'{xf];\ . %  

@= ækl/jt{gsf nflu o'jfsf] e"ldsfÆ zLif{sdf !)) zAb g36fO{ Ps cg'R5]b n]Vg'xf];\ .   % 

#= g]kfndf ko{6g Joj;fosf] cf}lrTo k'li6 ub}{ ljb]zdf -ci6«]lnof_ a;]sf] cfˆgf] ;fyLnfO{ lr7L n]Vg'xf];\ . % 

 

Mathematics 

1. ;/n ug'{xf];\ (Simplify):  [1] 

√4 − 𝑥23

√2 − 𝑥
3  

2.  lbOPsf] lk|Hddf AB=8 cm / prfO CC'=10 cm 5g\ .  olb o;sf] cfoftg 240 cm3 
eP BC kQf nufpg'xf];\ .   

(In the given prism, AB=8 cm and height is CC'=10 cm.  If the volume is 240 cm3, find BC.) [2]  

3.  xn ug'{xf];\ (Solve):          [2] 

34𝑥2−3 = 34𝑥−3 

4. dfg lgsfNg'xf];\ -Evaluate):          [2] 

√2𝑥2𝑦3 + √12𝑥3𝑦2 × √6𝑥5𝑦 

5. b'O cf]6f ;+Vofx?sf] cg'kft 4:3 5 . olb 7"nf] :f+Vofaf6 4 36fOof] / ;fgf] :f+Vofdf 8  hf]l8of] eg]  ltgLx? a/fa/ x'G5g\ . tL 

;+Vofx? kQf nufpg'xf];\ . (The ratio of two numbers is 4:3. If 4 is subtracted from the larger number 

and 8 is added to the smaller number, they become equal. Find the numbers.)  [2] 
6. Pp6f >]0fLdf olb ∑ 𝑓𝑚 = 150 + 5𝑎, dWos (𝑥̅ ) = 10 / ∑ 𝑓 = 10 + 𝑎 eP a sf] dfg kQf nufpg'xf];\ . 

( 𝐼𝑛 𝑎 𝑠𝑒𝑟𝑖𝑒𝑠, ∑ 𝑓𝑚 = 150 + 5𝑎, 𝑚𝑒𝑎𝑛 (𝑥̅ ) = 10 𝑎𝑛𝑑 ∑ 𝑓 = 10 + 𝑎,   𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑎. ) [2] 

7. Pp6f l;Ssf / Pp6f 8fO;nfO{ ;Fu;Fu} ˆofSbf l;Ssfdf k'R5/ / 8fO;df '6' cfpg] ;DefJotf kQf nufpg'xf];\ . (Find the probability 

of getting tail on the coin and '6' on the dice when a coin and a dice are thrown together.) [2] 

8.  d=;= lgsfNg'xf];\ . (Find the H.C.F. of 𝑎2 − 2𝑎, 𝑎4 − 4𝑎2 𝑎𝑛𝑑 𝑎5 − 16𝑎.)    [2] 
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Social Studies 

!= tnsf k|Zgx?sf] clt 5f]6f] pQ/ n]Vg'xf];\ .  (Write very short answer to the following questions.)  [4×1=4] 

-s_ If]qkmnsf] cfwf/df g]kfnsf] ;a}eGbf 7"nf] / ;a}eGbf ;fgf] k|b]z s'g s'g x'g\ . (Which is the largest and smallest  

     province of  Nepal on the basis of area? )         [0.5+0.5=1] 

-v_ g]kfndf ;+rflnt ljsf;sf kl/of]hgfx?nfO{ ;dod} ;DkGg ug{ s] ug'{k5{ < s'g} b'O{  pkfox? n]Vg'xf];\ . (What should   

       be done to  complete the development projects of Nepal on time? Write any two measures. [0.5+0.5=1] 

-u_ Ps ljBfyL{sf] ?kdf g]kfnsf nf]suLt ;+/If0fdf tkfO{n] v]Ng ;Sg] s'g} b'O{   e'ldsfx? pNn]v ug'{xf];\ . (What role can  

      you play as a  student for the conservation of our folk songs? Write any two roles.)  [0.5+0.5=1] 

-3_ bfO{hf] k|yf lj?4 hgr]tgfd'ns gf/f n]lvPsf] Pp6f Kn]sf8{ agfpg'xf];\ . (Prepare a placard containing a slogan  

     against    dowry custom. )           [1] 

-ª_ kf]v/f g]kfnsf] ;a}eGbf a9L kfgL kg]{ :yfg xf] t/ o;sf] glhs} /x]sf dgfª / d':tfª eg] ;'Vvf pkTosfsf] ?kdf /x]sf  

    5g\ . lsg< ef}uf]lns sf/0f lbg'xf];\ . (Pokhara receives the highest rainfall in Nepal but Manang and Mustang  

      near to it are the dry valleys. Why? Give geographical reason.)      [1] 

-r_ lzt o'4 eg]sf] s] xf] . (What is meant by Cold War?)       [1] 

-5_ g]kfn cyfx hn;|f]tsf] wgL ePtf klg o;sf] plrt ;b'kof]u x'g ;s]sf] 5}g . g]kfnsf] hn;|f]tsf] ;b'kof]u s;/L ug{  

    ;lsG5 < Ps jfSodf n]Vg'xf];\ . (Nepal is rich in water resource. How can the water resource of Nepal be  

      utilized properly? Write in a sentence. )          [1] 

@= tnsf k|Zgx?sf] 5f]6f] pQ/ n]Vg'xf];\ .  (Write short answer to the following questions.)   [4×2=8] 

-s_ Gofokflnsf eg]sf] s] xf] < g]kfnsf] Gofokflnsf kl5Nnf] ;dodf ljjflbt aGb} uO/x]sf] b]lvG5 . GofokflnsfnfO{ ;an,  

    :jtGq / lgikIf s;/L agfpg ;lsG5 < ;'emfjx? lbg'xf];\ . (What is Judiciary? The Judiciary of Nepal has been  

      controversial in recent time. In this context, how can the judiciary be made impartial, competent,  

       independence. Give suggestions.)          [1+3=4] 

-v_ g]kfnsf] ;Gbe{df ;+l3otfnfO{ ;kmn agfpg s] ug'{knf{ < s'g} rf/ ;'emfjx? n]Vg'xf];\ . (Write any four suggestions  

       to make the federalism successful in the context of Nepal.)    [1+1+1+1+1=4] 

 

 


